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SECTION-A il

Q.1 Questions Sy n

Gy IRy =2 4l.xn /)
fr=2x+],x=2 then y is equal to:

LR L;rwbiug:f;u;'::[_&‘”uj
The bisectors of the angles of a triangle are:

b
Proportional

W PP LCL&;{I

Aray has' end points.

_J;rﬂ.;iuufb";fuiffé&”bﬁﬁ

If three altitudes of 3 triangle are congruent, M‘"U ’6)‘/», il GEUIG L sl
then the triangle is: ; Equilatera Right angled Isosceles Acute angled

.Jﬂu]-p’ﬂd;’l;’))ld‘U’CIPF;.‘J{'!J:LJf){.df/‘l
If two opposite sides of a quadrilateral are
congruent and parallel, it is:

Lsrisans
Parallelogram

e o8 Fis
Triangle Rhombus Trapezium

6. - I8Lnk (2,2) 1 (0, 0) st . 1,0)

Mid-point of paints (2,2) and (0,0)1s: ;

J__/.,swa",wwﬁauﬁa.uc"__fdgydd"‘c,(f' '
7. 4?0;}0,‘;7 S ‘ s Y L

The region enclosed by the boun ding linds.af | Perimeter Area Union Altitude

a closed figure Is called the —Of the figlirg, ™ s :

,T: L G ‘ ;‘l
8. ,Jdﬂg@u«ﬁd&»f&bgjd‘* ‘ * b Ba S
triangles are of same :{{;éia_nd shé‘pq. == Proportional Colllnear Similar

,4—41)?*)@5%’):’2 0 1 \-Jb_
3 2

3-by-1

- 4 * n H
_§—LCLL¢OJO)JIJ([OE()’" ) (log’")h m lOg 7 n log m IOg mn
log(m™") canbe written as: . 1
. 3 i 4 ‘2 "
_4—4))5'(}1/{ 4x" + 2x Vv I 2 3 4
The degree of polynomiaj 44 + 2x2y Is; |

2 ]
Order of transpase of 0 i

| 13
2 EW —i(3i+ 2)/u’-ar'f

Imaginary part of —=i(3i+2) is:

; s 2
sl 3t —x -2 *+D,6x-2) | Gx+1),(3x+2) (x=D.Gx-2) | (x=1),(3x+2)
Factors of 3x% — x 2 are: ‘ ;
i(a+1) t(a-1) (a—l) (a+1
The square root of 2 ~2a+]is;
R O SR x>0 34 5<0 X+2<0 vl
x = 01s a solution set of the inequality;
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. Note:- Section I3 is compulsory. Attempt any three (3) questions from Section C but question No.9 is compulsory.
(SECTION-B /)

2. Write short answers to any six parts. (6x2=12) -ég f s /':‘L,lzll,é-&f .2
i. Define Square Matrix. ‘é__g_,i'd_.)r,-d’.f i
ii. Find 24+3B an=[2 3] and B=[5 '4} -g—_’rﬂv.-_éJZAﬂB;nB:[s _4}” A:[z 3}/: i

1 0 -2 -1 -2 -1 1 0
; . 4(3)" o .

Hil.  Simplify by using laws of indices. P A F sl SIFSEILGST

iv. Simplify. \ - 4Yfsiy ™ ’ EF W
v. Find the value of x. log,x=5 ,;{»,c(}”;,/f‘j x N

Vi, Write 2 logx— ~3 log y in the form of a single logarithm. ,qu?-LF’LS(’JB’)»I:f 2logx-3logy M
vil.  Simplify. [«f' +‘J—§)(ﬁ "jj%) | EF i
vil. Rationalize the denominator. '3-):'127? s {7 10) B

ix. Factorize. ‘ %—;——2+-§;- SR I

3. Write short answers to any six pars. (6x2=12) -é{fa“!,‘gl_plz’lzaaf .3
i, Find H.C.F of 39x"y’z and 91x° 42" ‘zér}*’(‘"n;w 91x°yez" i 39x7y’z
ii. Solve the equation. 3x+4=2 e

iii. Define Linear Equation. céd;‘ (5-—"3[/64);4( i

iv. Define Cartesian Plane. Z‘éu/dd:"u’;b’ v
v. Find the vaiue of m and ¢ of the line by 2x+3y-1=0 custm w&_é.,/f-thf y=mn+c ?’..«l:l/u(d; RY

expressing in the form y = mn +c (}" 28
vl. Write distance formula between two points. 4"fll *‘;WJ’BUL»»LW» v
Vi Find the mid point of iine segment joining. A(2,-6) B(3,-6) é(?”»fdww»’ el pFuna st il
viii. Define Congruent Triangles. ‘ éd/‘" LSU(?VJU" il

_Zé(}”o}:d y° o x° uﬂbwﬂldilr’(fd) Jdx

ix. Ingiven paralletogram find value of x"and »°.

4. Write short answers to any six parts. - (6)(2512) ,ég / uu /" [_,Izll:_&f A4
i, Whatis meant by angle? B : a -"\‘\ “c;.:l/b’a.,;b 3

i 1f 3cm and 4cm are lengths of two sides of a right angled tnangle, 4cm 2l 3cm uwdcwmcﬁj‘m)a/co’f i

then what shouid be the third length of the triangle? 7 e ?GIVGUJC?:'/LJJW
iii.  Whatis meant by proportion? ; Sy Wb i
iv. Find the value of x in the given figure. -zé(:”".:»é(j x ()"’l:u'-'-g,p v
x 13em
Sem

v. . Write down the converse of Pythagoras theorem. , é//’wu't:“ RY
vi. Whatls meant by rectangular region? Sl b U’a,JIPGJ/ RV

Zf(}”,o/‘o’gf’ i

vii.  Fingd the area of given figure.
dem
S, Define Median of a Triangle. | édﬂd,uﬁLJ/ vill
ix. Construct AABC in which: mAB =3cm, mAC =3.2¢cm, msd =45 u’c._ "ABC &P

(Turn Over Jids



5.(a)

(b)

6. (a

(b)

7.(a)
6)]
8. (a)

(b)

@)
(SECTION-C /r.»)

Swe-Gy.
(4+4=8) - @ AUt AL iy g s MRy Y

Attempt any three questions. Each question carries Eight marks. But question No.9 is compulsory. (4+4=8)

Solve by the Cramer’s rule. 2x+y=3 45()’4,“-‘%))(?[,/://
5 6x+Sy=1
Use laws of exponents to simplify. (81)"-3° - (3)4'1—] (243) ,zif/}c,wdufﬂél)gj
o))
Use logarithm to find value of: (438)3 J0.056 ~3"§(’W°”§¢—ML§(‘BJW
(388)"
1 1Y 3 1Y 1
if x :2+-\/§,find the value of x —— and (x—~] ,éér)”o‘fé(x——) ulx—-]nx=2+x/§fl
X X x X
?K/é;&(,ut/gcz;/ﬁj/, (x=3) Fq(x)=x>-4x+k sl p(x) =k +4x% +3x -4 uy_"ijé&(:/.;u‘(d k
Determine the value of kif p(x)=ix’ +4x* +3x—4 and g(x) = x* —4x + k leaves the same remainder when

divided by (x—3) .

Use division method to find the square Ox* —6x> +7x2 = 2x +1 _ér}”d/m,({”’f,g/;;
root of the given expression. '

4-3
Solve. . S5 =gl . £

Construct the APQR and draw the altitudes. mPQ = 6cm, mOR'= 4.5cm, mPR =5.5cm ‘ai;’(cw/;),/m;;u APQOR
,b‘ﬂJﬂlﬂldﬂ/cw/ib}Jﬂu]namwtd;/éﬁ;ﬁujﬂugﬁfz’fab‘
Prove that any point on the right bisector of a line segment is equidistantfrom its end points.
OR L
ﬁumuu!,}mum.ucwml;wédu?}u‘ﬂféu&

Prove that triangles on equal bases and of equal altitudes are equal in area.

(@5

(b)

(a).6

(b)

(a).7

(b)

(a).8

(b)

9
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SECTION-A (v

Q.1 Questions /=iy A B ¢ D
Log TS LT PR h N " .
: The symbol used for “is perpendicular {0”; ' ' '
; 72, el LE i il is ’ N S
; In paralielogram opposite sides are: Oppesite . Diagonal Same *© Congruent
i . ,u.j;_l“,-:('.f‘,{-"fz_-':u:‘?/.l/. ol o a5 ) ) . ' . ‘
I 21 Bisection means to divide Into equal 3 ‘ b 2 4
. parts. . [ - v
4, Sautond g - e e Ju C G4l
: oo _has no umit. Ratio Proportion Congruent Equality
i T S e S RS . S ;
! L L " - ¥ 5 . B - 8 p .
Y - b o i u[H-q A a A b i N | (a-b) | N
5 H.C.Fof o /¥ and o ~ub+ B i
: ;‘.:,._,f'l,.:'_,?f')“ ::!.’...g’l,',.-'_ A U Ulg}'w
:
SR A Ry D " . 5] é
5. | one angle on the bogse o 4 isosceles 30 60 90 120
triangle is 307 What is the measure of its
vettical angle? '~ * e
Cog e G i34 2) 2 a 3 -3
|‘ ! Imaginary part of =i/(37+2) is:
g, | sy iy =0yaloy =2 Ji . 3 4 5
| for=2vrl,v=2 then p s 2
; g, | .a‘;‘r::.:i,::f. ,f';?' :‘Kl/.,u’ploj T L0 g 0
The fogarithin of unity to any base is: .

10. & SALdv 43y =2 g S bl el
| dy+ 3 -2 isan algebraic: Expression Sentence Equation “Inequation
i l «::x;}d.r:jt;} PCM st (,( i "LSJ,J.J’LI‘} ‘

AL 27 41.43,1600 C <1600 C 21600 C <1600 C'>1600
: i If the capacity “C" of an elevator is at most

! ' 1500 pounds then;

Y oA 9Bl (2.3 00 V8 an (1.0 o0 (0,0)

; i Mid-point of points (2,2) and (0.0) is: ’ : ‘

13 % adraans___JeSur Y : Ao 4'&? 7y
| ' Congruent figures have same: Length Area Median Diagonal
| : A :

i f 2 "",-""""*V'/"*‘-—I 01 ’.,JG
LA o2 I-by--2 21-by-3 I=by-3 3-byi-1
Gl e ] . ;
5 | - TR sy 3p) | (o ap)Sx—3p) | (x=dp)(Sv+ ) |(Sx - 4y)(x+3y)
& Factars of 5x° —17x1 —Pl are:

10-122-A-36700 * k%
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Notei= Soction B is compulsory, Altempt any three (3) questions from Section C but question No.9 is compulsary.

SECTION-8 -

2. Write short answers to any six parts. (6x%2=12) -é’-."r//.;,le/!L,li.'hga.&f 1

i Deline Scalar Matrix. ‘ : g_‘:‘_,:/u(_fh)(;);p i
S ; e '

; f o=l - Veri ,"l = o ) . ! 27 . y

TR L 0 ‘Ji.then verify {11 = - . ( ) =4 f S0y Ao 0 A

L ox

G# O pgez L w&d’ foz3_ozmzs li

B Express 0.23=0.232325. in the form —l-{,wh'ere pgeZand g=0
(/ .

be  Simplify, ) ey 7 LA

<. Express 0.0074 in scientific notation. ) . 7 -iiouf,a?id"'bfo.ooﬂ v

vi. o Evaluale. logg3 = log, 25" . cé(:’”o; Vi
vii,  Why 2+ J7 isnot a surd? ' Vc—u“urf(‘l,u‘m vt
vili. b =10and a-h=6 . then find the value of a° +hY ' ,é‘: =l d’a +b Iyra-b= 6ulz/+b-]0/r Wil “

ix. Factorize. “ 4 1207 =361+ 27 . ; éd/ dx

3. Write short answers tokyy six parts. (6x2=12) ' : é//uu:’/é liric.df' 3

| Find H.C.F. IOQ.\;V::_. 85.\':.):. 187.\"1::: ) 4:‘:(?’ PJ,I; ki

1. Define Equivalent Equations/ ) ‘ _ai’(q'/rduﬂ;l/,_m/'. i

i Solve. ' ye3)=i 2k i

v Whatlis difference between abscissa and nrdinate? : S ST LA Tl Ll v

R -2 C +327%and " =107 then fing ) 4¢f:,~.r""' F'ia C=10" 0P :.% C w322 /1 v

vi.  Find lhv.;, mid-point between two points A(=8.1). B{&.1) : _:_.( - Jﬁ’(}(xub’}bm Vi
vii.  Find the distance between (0.0} anc (-4.-3). : ; (P LJI,UL,,,,J_,( =3} #(0,0) il
vili  What is meantby S.A S = §.4.57 : o tr e (.S.A,s =SAS) L= il
ix. Find (he values of m and . -~5‘5r}"<}."’3&y° A

{ 1
f g Fas

4. Write short answers to any six parts. ; ST (ex2=12) é//ubl?/[,;!/lic.df 4

. Define right bisector of a line segment. - o ,,__A_ﬂ/-‘ (j._»—vlo,f L

ii.  \arify that 3¢m, 4cm and Scm are lengths of the sides -uiuy!_/’d(‘,ﬂ;'l'.{.e);"d 5cm i dom .3cmf.‘:f_fd_,wf i

of a triangle. o
! PA LI i - e
it Cafine Proportion. _ . _:;f_(..;_'f’d’wb it

,Z:é()"'&/_;(f.\’ Y
X hﬁcm

1em

i Find the value of x.

Verify that a = 1.5cm . b =2emand ¢ =2.5¢cm ,u;’d[_f(«jdd/f/ﬁ)l}“:/[?c =2.5cm b= 2ecmea=1.5cm féd.»‘; v

ara sides of a right angled triangle. o [
_a:‘i'l.a_-,f-f(jt,lﬁ/léy vi
-é_-{f(}”.a_:’./ whi )

vi.  Define Altitude of a Triangle.

Vi Find the area.

Define Orthocenter of the Triangle. ; ‘ } ”'J/’J//U;:'L-/V Vil
o Consiructa AABC in which: MAB = 33eny, mBC = 4.2em, mCA =5, Tem ! U‘d’é‘—-@ ABC ¥ ix

Gurm over  Fidm



